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a) potassium hydroxide and lead(II) nitrate (Click for the solution to a)  

2KOH(aq) + Pb(NO3)2 (aq) → Pb(OH)2(s) + 2KNO3(aq) 

b) lead(II) nitrate and iron(II) sulfate 

Pb(NO3)2 (aq) + FeSO4(aq) → PbSO4(s) + Fe(NO3)2(aq) 

c) ammonium sulfate and barium chloride 

(NH4)2SO4(aq) + BaCl2(aq) → BaSO4(s) + 2NH4Cl(aq) 

d) copper(II) sulfate and sodium carbonate 

CuSO4(aq) + Na2CO3(aq) → CuCO3(s) + Na2SO4(aq) 

e) silver nitrate and sodium chloride 

AgNO3(aq) + NaCl(aq) → AgCl(s) + NaNO3(aq) 

f) potassium hydroxide and copper(II) nitrate 

2KOH(aq) + Cu(NO3)2(aq) → Cu(OH)2(s) + 2KNO3(aq)  

g) sodium hydroxide and iron(III) nitrate (Click for the solution to g)  

h) aluminium chloride and sodium hydroxide 

AlCl3(aq) + 3NaOH(aq) → 3NaCl(aq)  + Al(OH)3(s)  

i) calcium nitrate and sodium carbonate 

Ca(NO3)2(aq) + Na2CO3(aq) → CaCO3(s) + 2NaNO3(aq) 

j) copper(II) acetate and potassium sulphide 

Cu(CH3COO)2 (aq) + K2S(aq) →  CuS(s) + 2KCH3COO(aq) 

k) lead(II) nitrate and potassium iodide 

Pb(NO3)2 (aq) + 2KI(aq) → PbI2(s) + 2KNO3(aq) 

l) magnesium sulfate and sodium hydroxide 

MgSO4(aq) + 2NaOH(aq) → Mg(OH)2(s) + Na2SO4(aq) 

m) Barium hydroxide and copper sulfate 

Ba(OH)2(aq) + CuSO4(aq) → BaSO4(s) + Cu(OH)2(aq) 

 



n) Calcium sulfide and aluminium sulfate 

3CaS(aq) + Al2(SO4)3 (aq) → 3CaSO4(s) + Al2S3(s) 

Two precipitates form. 


